Ling 1651 W 2 Spring 2019

Due: Thurs, 04/18 at 10am in class ﬂ S
Answer tho guestions in the spaces provided on the : ; V
Na

s

,‘,-
m o .!I points: _1@5_/100

svery time yvou are asked to draw a tree, we expect you to draw a surface tree
that includes everything you learned in this class, In particular don't forget
to include:

e |4-q] feature when relevant;

e indcces in controlled structures;

e arrows and traces showing movement.
Nota Beno Sometimes you will be allowed to use triangles for phrases con-
taining a single word, Sometimes you won't, Make sure to read the directions
carefully. N

Question 1: V to T and Crosslinguistic varintion: Italinn (19 points)
Considor the following datn from Italinn,

(1) La  madre di Federiea guarda spesso serle telovisive nmerieane
The mothor of Federien watehes often  sorles TV Amorican
TFederiea's mother often watches Amovican 'I'V serles’

(n) (5 points) On tho basia of this very limited data, does the vorb ralse to ‘T In ltalian
or does it remain in VI (like in Bnglish)? Say which propertio(s) of tho example
support(s) your mm\\-ur.(‘y\'lux 3 linos,)
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i - (b) (14 points) Draw the tree structure for (1) Do ot use any triangles!
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Question 2: V to T and Crosslinguistic variation: Mezquital Otomi (19 points)

(a) (5 points) From the word order in the single Mezeuital Otomi sentence below can
vou tell if the language has V = T or not? Say which propertie(s) of the example
support(s) your answer. You can assume that this language is head-initial, that the
specifier precedes X', and that T does not have an EPP feature. [Max 3 lines.]

v S O
(2)  Dabéts?i ri tsint? mapari  fani
climb.FUT your boy onto your horse
“Your boy will climb onto your horse’

Since Hus forsuare 15 VSO, tHhis ‘aplios  Hhak ke
Toe chrctare 15 SUD, gttt U povo #o [Seec, T]
12 Presert o surfoe Struwed we of /S5°.

(b) (14 points) Draw the tree structure for (2).
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Question 3: - (6 points)

Assuming the X-bar schema below for a given language. E \plmn why it is difficult to

determine whether there has been any V to T movement in such a language. [Max 4
lines.|

XP

/\

Adjunct XP

A

Spec b. &

TS

Compl X
ASS(AM\M‘) Hee  |owed XP would  corcesprd 4o a ’rP
if o N s bo raase 19 4he  SPerrfles  postiion /
for Hee (/aﬂP’M, Hhe  wwed ordtc tn t-he
ﬁvdf\mo\ o ld e peeseved e odiwet S precedes eveY ey,

Question 4: Raising or control? (20 points)
Determine whether the following underlined verbs are Subject Control or Raising. Sup-

port each answer using one diagnostic (make sure to only consider diagnostics that give
you positive results!)

(a) (4 points) Daniela swore to protect her sister.
Evidence: D‘”\‘e"* Swerc C ‘)/'}— [/\b hWouw Id d/ T tu:] ‘/
Therefore, this is a [J Raising /E:Control verb.

(b) (4 points) The district turned out to exist (Note: Analyze turn out as a single verb)

Bvidence: Werther "t T Furmd put 2 be rainiey,
Therefore, this is a %Raising O Control verb. /
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Question 5: More tree drawing (36 points)
Draw the tree structures for the following sentences. You are allowed to use triangles

for single words.

(a) (12 points) Could Peter have inadvertently overbaked the cake?
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(b) (12_ points) The new professor of physics appears to be paying attention.
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(c) {12 points) Does Mary really want to marry that old man?
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